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1. Y RIS UMaRu/AATEaRT (Mantle) Tt foram fo=amra =,

37) UTEROTET STEr AR 2,865 Toh.#T. 3T ATAT RETAT FATMAIG ToaedR 33 . 9T o 2,900
o, o1, o e,

) WTEROTTEAT GRS RIS 99T 5.57 T 3Tl RIS 9T 3.1 IH/97 AT, I 3=,
T I

1) ®h 3T IH 2) %th § I

3) ARl Ieh 4) T R

Consider the following statements regarding mantle.

a) The mantle is about 2,865 km thick and its extension in the interior of Earth is 33 km
to 2,900 km.

b) Density above the shell (upper mantle) is 5.57 and density inside (lower mantle) is 3.1
g/cubic cm.

Answer options :

1) Only a incorrect 2) Only b incorrect

3) Both are incorrect 4) Both are correct

2. WOIo dRS TRIRIA Ug aT ¢
- Faid HHT P IRYHIT HOTRT g
- AT AT AHR AT IRAT
- TUTe, Tehles Ha o SararEr ha<dr
- 1T Tehel g Ter

T IO
1) X[b 2) &
3) 99 4) ZHT

Identify the Planet by studying the following features :

- The slowest orbiting planet

- Double the size and mass of Earth

- Flat, rocky plains and signs of volcanic activity

- It has no moon.

Answer options :

1) Venus 2) Juliter
3) Mercury 4) Saturn

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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3. AT IAUTAT THUT Ghas[Ueh! Taiesh T he ---- SIS 38,

1) Rremazor 2) WTEROT

3) T 4) TAHURT Tehal ATer
Out of the total volume of Earth's interior, ----- occupies most of it.

1) Crust 2) Mantle

3) Core 4) None of the above

4. AT SATEROTAT MG SO 9 IPTEH Sard?
3N IR IR
¥) TeIRAT 3t a1y
) VRS HLTOT
gy 39N
1) &<h 3 2) %hth 3, h
3) ®th 9, % 4) 3, 9, h
What factors contribute to the creation of Earth's atmosphere?
1) solar wind
2) Degassing of Earth
3) Photosynthesis
Answer options :
1) Only a 2) Only a, ¢
3) Only b, ¢ 4) a, b, c

5. BREMET T MeaHT e =T a9 Gie, 376 I Siae SIVTHARET R ddR TS, AT
T A NSES TS BT,

AT I
1) AT 2) ITRIT UG IEE
3) HITHIE I AR 1) A e

Between Laurasia and Gondwana land, a deep, narrow, and long basin-like land mass
formed, known as the .
Answer options :

1) Geosyncline 2) Divergent plate boundary
3) Convergent plate boundary 4) Geo Incline
6. oAl Wehi=aT RIAdESE hioTar Wiehari=/achiehi=T JHE3T gidr?
1) 3Tq&RoT 2) frgigor
3) T/ IOTAT 4) TSR I9
What are the process / factors involved for the formation of sedimentary rocks?
1) Erosion 2) Deposition
3) Pressure / Heat 4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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7. Serdr MO QAR ST SohedT ISTHTaR_IT Sol TTearar Riwsid T ASH.

1) ISR 2) qoed
3) ST 4) SITST S %

proposed the theory that the moon was formed from material separated from the

earth.
1) Weizsacker 2) Moulton
3) Darwin 4) Georges de Buffon

8. ghrd fyum/A sfresa.
3T) ST BT AT T2 holIT M GivsT AR daR TTeaT e,
) & IPTT Ae-Mohe 80% T RATHahiT 20% 312,
%) T THOT TTRBTIR 16% T-THes T THUT TRAATIRT 32% TGH T 3TTE.
ERIRIER S
1) % 7 2) ®h &
3) ®h & 4) TeheEl AT,

Identify the incorrect statement/s.

a) The core is made up of very hard minerals.

b) The outer part is iron-nickel 80% and silicon 20%.

¢) The core (inner core and the outer core) accounts for just about 16 per cent of the earth's
volume but 32% of earth's mass.

Answer options :

1) Only a 2) Only b

3) Only c 4) None.

9. 1961 HH TAYadd UAR Rregra (Sea floor spreading theory) HIOT gigaT?

1) & & 2) AR BowT

3) AThe PR 4) TR TS
Who proposed the sea floor spreading theory in 1961?

1) Harry Hess 2) Arthur Holmes
3) Alfred Wegener 4) None of these

o oSN O O

10. 1967 W Ug faadien! RI=gid (Plate tectonic theory) R¥=gid SIvir AigaT.

1) &1 Rex 2) HeheedT, Iz, |1

3) T. . gellee 4) Sf=e B

Who proposed the plate tectonic theory in 1967?

1) Carl Ritter 2) Mackenzie, Parker, Morgan
3) A. V. Humboldt 4) David Harvey

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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. AT S{AOTAT SETRARATST SIOTT AT 9T9R HAT JefT?

3N ST 3T BT wistae ) JohTdaTd

W E) ¥) FIERT
I

1) &th 3, 9, 2) hth 9, h, S

3) th 3, &, © 4) 3, d,h, §

Which of the following sources can be used to study the Earth's interior?

a) Deep Ocean Drilling Project b) Meteorite

c) Gravitational force d) Lava

Answer options :

1) Only a, b, d 2) Only b, c, d

3) Only a, ¢, d 4)a, b, c d

12. Wﬁuﬁﬁw
;%v < |oho|| GRS Yo FEeT geeT 7 FigT I9EEe g9edr a9 99

¥) ek @AY ﬁ%ﬁr 3R,

&) U9 Tedh ThHiCHAT TIdTd.

Wﬁﬁ'ﬁi‘:

IR AR

3) A, H 4) TSR I9

Choose the correct statements.

a) A solid substance formed by the combination of elements or minerals and without
definite chemical reactions is called a rock.

b) Rocks are mixtures of minerals.

c) All rocks are not crystalline.

Answer options :

1) a, b 2) b, ¢

3) a,c 4) All of the above
13. lfﬁﬂtﬁ-{l dﬂ'l"ld t‘-II‘II(‘IIC") ic’bs‘(d‘I 3T|ﬁ‘ HATYT Hldldd ‘%Chl‘d l‘R‘II*-{ 3Hlood].

37) AT - 46.60% ) S - 27.72%

&) HE - 8.13% T) HTeqY - 5%

T 39N

1) 3, h, € )9, %, S

3) &, 4) ITIHT TS

Identify the incorrect options regarding the elements and quantities(%) in the Earth's

interior.

a) Oxygen - 46.60% b) Silicon - 27.72%

c) Iron - 8.13% d) Sodium - 5%

Answer options :

1)a c, d 2) b, c, d

3 a,b 4) None of these.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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14. T TAHes ATaRTT SAITOT ITHT & IR THHBIIRLT TS STy 3TTed.

1) AEr 2) TR

3) TS 4) YUY

Due to discontinuity, the mantle and core layers are separated from each other.
1) moho 2) Gutenberg

3) Conrad 4) Repetti

15. AT WIS S a Ga=dTd STRAe JRTAS 99T STARIYT JTed.

1) ST&l 9TdaRoT 2) dSTel 3T
3) SATARTATIROT 4) 3Tafkes T
As we move deeper into the Earth's interior, layer which is in liquid state shows

sudden increase in density.
1) Upper mantle 2) Outer core

3) Lower mantle 4) Inner core

16. ST UTshaTeH Ueh Yo U-ATSAT Qoo A WishdT 1T U SEo! STd?

INEESEIE] 2) ISR

3) ATHAROT 4) TR

The process in which one plate slides beneath another is known as?
1) Advection 2) Subduction

3) Convergence 4) Convection

17. TrETe Sfor AT 8 9% TRHABIRET Ao Taes T 3T
1) T4 2) IR

3) TS 4) 9rar

The SiAl and SiMg layers are separated from each other by  discontinuity.
1) Repetti 2) Transiform

3) Conrad 4) Moho

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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18. UeIe [y =T =,
3N e R 99T TS e A T WRTER d99d IR,
) RATe @R & g=Fd: I 0TS WehTINgT T e,

T I
1) %th 37 TR 2) th & SRR
3) Sl SRS MR 4) T IH AR

Consider the following statements.

a) The density of the SiAl layer is more than the SiMg layer, hence it is floating on the
SiMg layer.

b) The SiAl layer is composed mainly of granitic rocks.

Answer Options:

1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect

19. WSS TAEAYT T IR Faer:

LEEED HESHRET ThiX

3n STl 1) HeH%h® JH

) FHEA 2) AT Teh

%) AMEAT FSH ORIERERIEIPE R RCECT
¥) FaeeEe 4) AT AT FsHh
AT IR

HNA-49F-1,%-2,8-753 2)A-3d-4h-2,8-1
3) 3 -4,9-3, F-2,8-1 4) TAHURT Tehal ATer
Select the correct answer from the codes given below:

Rock Rock Type

a) Batholiths 1) Metamorphic Rock

b) Pumice 2) Sedimentary Rock

c) Sandstone 3) Extrusive Igneous Rock
d) Quartzite 4) Intrusive Igneous Rock

Answer options :
)a-4,b-1,c-2,d-3 2)a-3b-4c-2,d-1
3a-4,b-3c-2,d-1 4) None of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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20. IS [TU/A T
3T) o, I[h, TAT MO H365 & FAUE 3Ted, AT FSHT ITART Al AT @b, AT TG

ATHR B HEA IR,
) SR Jod AT TeTe STHR AIS WA 30T ITeaT AR I=ATR! e 3w-Id. T,
T, I SO A9 § 5= 91 U 3.

T IO
1) Tth 2) Bh &
3) FLGIR Srar 4) THSYHT The! ATEr

Identify the correct statement/s.

a) Mercury, Venus, Earth and Mars are inner planets, these planets have less number of
satellites. These planets are relatively small in size.

b) The main outer planets are Jupiter, Saturn, Uranus and Neptune. As compared to the
inner planets, the size of this planet is larger and the number of satellites is also more.
Answer options :

1) Only a 2) Only b

3) Both 4) None of the above

21. WTHG Headiar I Jo5eaT THTOTT AT ShA BT,

3 TR ) HEET

%) SR ®) T

T I9Y

1) F-9-37-8 2) I-H-3-
3) T--H- 4) H-FH-T-T

Arrange the following Period in the correct geological time scale.
a) Tertiary b) Cambrian

¢) Jurassic d) Quaternary
Answer options :

1) c-b-a-d 2) b-c-a-d

3) a-d-c-b 4) a-c-b-d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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22. ITge A HaEr.
3T) JATHT WehT3T QUTRT AT Saesdl dRT WoTsid qF 8.
) Tk YhreT a¥ TSl g UHTE TSHT I (365 [Sa™T) HIISS ARG a8
&) TEER YRIET Iogrre! 8 T 20 Heheg asl 9 Brrd]

T 39N
)3, 2) 9, &
3) A, &h 4) TSR T9

Select the correct option.

a) The closest star that gives light to the earth is the Sun.

b) A light year is the distance in space covered by sunlight in one year (365 days).
c) Light takes 8 minutes 20 seconds to reach the earth

Answer options :

1)a, b 2) b, d

3)a,c 4) All of the above

23. WSIGUDI HioTdr = THadd TAR' (sea floor spreading) =4T e«i%w'jicgi Yh< Bldld?
37) HEENRTST Heiax (oceanic ridges) SATAREET 33 89T & AT 919 37TE.

) HERIPR HereAT RIERMRIT 53 Aol Weh 99 SR 9.

%) HEET Ted ¢ FERIPRIAIG WehiUs W= Gar Aed.

T I
1) h 3T 2) Th 3T 3NOT &
3) Th & 3TIUT & 4) 3, § OT &

Which of the following statements are made in the relevance of concept of seafloor
spreading?

a) Volcanic eruptions are common along the mid oceanic ridges

b) The age of the rocks increases as one moves away from the mid oceanic ridges crest.
c¢) The continental rocks are much younger than the ocean crust rocks.

Select the correct answer using the following codes.

Answer options :

1) Only a 2) Only a and b

3) Only b and ¢ 4) a, b and c

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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24. U (Ge) THTEAT HSHTd, WISIHUDT HIUTd/ROTA [aT T 312

37) ATEROT AW T4 Ug AT J9R 2.
) ATHHROT AT heh I HETEUTT JgHe gedrd.

&) ATHROT AHTH Teh Had AT TAAER T 2.

T I
1) &t 3T 2) Th 3T 3TOT
3) Teh & 37T & 4) ITIRT FHITdRr ATRr

With reference to Plate boundaries, which of the following statement/s is/are true?
a) New plate / surface is created in convergent boundaries.

b) Convergent boundaries happen only between two continental plates.

¢) In divergent boundaries one crust is destroyed by the other.

Answer options :

1) Only a 2) Only a and b

3) Only b and ¢ 4) None of these
25. ‘;I_W“ILII%‘!\"I i“\-lobull%ll Sl d')o"lcc*)l Iy HUIdId?

1. 2. 349!$3|i

3. AR FHell 4. T3NSR AT

Heat energy obtained from the earth is called?

1. Thermal energy 2. Nuclear energy

3. Solar Energy 4. Geothermal energy
26. WS TUHEITHRr s/ fam/~ s

3N TR I I IRFAT heh i, TG Grotamal - RTT [SrTol S,

) MeaT e : AW IR IWRFT, WAGs, TRAT IUGSTAT IAhels T Ai=m
FHTIET BT

&) INMRTAS : STGTIT ITHRH, STTVRehT, AISFIRGRT, IR, SRTST, AT, 33 Sfe, 3fieelodr

3T 3feTiacahl We=T FHTSZT 2idl.

T I :
1) Wh 3T 2) Bth &
3) Wth &, & 4) TSR T9

Identify the incorrect statement/s among the following statements.

a) Wegner proposed that the supercontinent Pangea split into two parts.

b) Gondwanaland : It included North America, Greenland, Eurasia to the north of the Indian
subcontinent.

c) Angaraland : Includes the continents of South America, Africa, Madagascar, India, Arabia,
Malaysia, East Indies, Australia and Antarctica.

Answer options :

1) Only a 2) Only ¢

3) Only b, ¢ 4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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27. AT WESHYOMST VAT WSTATS! e 31e?

1. dfsr 2. gIEEr
3. hIGHT 4. TTHE

The Gondwana rock system is famous for which mineral?
1. Copper 2. Limestone
3. Coal 4. Diamond

28. WIS RIS HIVTAT ThReAT FehraT MEa?
- WS SR IdTe.
- € 9<% Y Wehrdr ARy goyiy o
- T G SATST HTIeSdTd.
I I
1) S Teh 2) IR ek
3) WATART Teh 4) TSR FTerer el

Following features are of which type of rock?

- Rich in minerals

- Shows features of original rock

- Fossils are found

Answer options :

1) Sedimentary rocks 2) Igneous rocks

3) Metamorphic rocks 4) None of the above

29. YIS 9o =R =i
37) JATAT AT SAMTRISTT 47% STOT ISR 28% & Wivst @R e,
) TETAT AT IO IR WTaR0T & HHe ST
F) ATAYTEROTAH TS gaal MiHl g F Qe AfaargesT Ted.
TR 399 :
1) $9& &, F TR 2) HaB T IR
3) Thaos 3T, T TR 4) 99 RS

Consider the following statements.

a) Oxygen 47% and silicon 28% minerals are found in the earth's interior
b) Mantle is considered to be the origin of Earth's internal energy.

¢) The lower mantle contains denser silica materials and various oxides.
Answer options :

1) Only b and c are correct 2) Only b is correct

3) Only a and c are correct 4) All are correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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30. WSIAUh VAT Teh & [AAdRT Teh ATer?
1. TRER yRCIGETED]
3. FATICESS 4. Te=r

Which of the following rocks is not a metamorphic rock?
1. Marble 2. Sandstone

3. Quartzite 4. Diamond

31. PRI GSHAH ATl Gaehid GATIG Hehid AT HXUATATS! HIOTd AT IO Ieh?

1) TR AT 2) fage gfeRraehar #ex
3) HUeHIER 4) TOSIHT FIEE ATRL
What instrument is used in mapping the variations in the Earth's magnetic field in oceanic
rocks?
1) Gravitometer 2) Electrical resistivity metre
3) Magnetometer 4) None of the above
32. dTqgred, fiersy anfor YawT @es & ISTER0T ATE.
1) IR W& 2) ¥RA Gh
3) ™AART Tgh 4) ISR ATRT
Sandstone, conglomerate and silt stones are examples of
1) Igneous rocks 2) Sedimentary rock
3) Metamorphic rocks 4) None of the above

33.  ehld [ag/A M
3N S&ET ol AT The 2T HIaTd ST,
) FHERATIRI TR AT TSHaR TTLTATH! ShaT B3 0T Hlool/ AR FaT TR
2.
gt 3R
1) %eh A 2) th §
3) el 4) SRIHRT THET ATEN

Choose the incorrect statement/s :

a) Deccan trap is formed in the cretaceous period.

b) The weathering of the lava rock produces fertile black/chernozem soil.
Answer options :

1) Only a 2) Only b

3) Both 4) None of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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34, WolGUDl I STiel Fder.
3. IR e - ddTee
. MMl G - RIS
F. [AART Geh - TGS

T I
1) 37 30T & SRR 2) & 3MOT & SRR
3) 37 IIOT & TR 4) Fh 3T SRR

Choose the correct pair from the following.
a. Igneous rock - Basalt

b. Sedimentary rock - Schist

c. Metamorphic rock - Limestone

Answer options :

1) a and b are correct 2) b and c are correct

3) a and c are correct 4) Only a is correct
35. WISIAUDT HIoTd FdMMT AT TShie ThR Aad?

3N FRIST ) FHRST

EERIEIR 3) SEh

Iy 39N

1) 3, 2) A, 4, H, S

3) 3, 9, % 4) 3, S

Which of the following are intrusive igneous rocks?

a) Phacolith b) Laccolith

c) Batholith d) Dyke

Answer options :

1)a, b 2) a, b, c,d

3 a,b,c 4)a, c d

%.ﬁm%ﬁﬁwmw
37) UfSrT &1 Thartel TRAeTd TTaal f[aene Es a3 gardiadr R grdr.
) AT (92 SESTadT SRITIRCTAT THERT TISTIT HeRIPR 3™ 207
T I
1) %th 37 TR 2) eh & SRR
3) vl aRISR 3ATEd 4) ST b IR
Consider the following statements.
a) Pangea was once a supercontinent located around the North Pole.
b) The sea surrounding this vast land was an ocean known as Panthalasa.
Answer options :
1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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37. VT RgidfRIARER TEN had AT g9d< gaueraier aomR Afus HeR
FHI ITE.
1) 3R BT 2) STt TIRT
3) 3MhS IR 4) TS TS

Whose hypothesis said that Earth's crust is a more rigid shell floating on a more liquid

substratum of greater density.

1) Arthur Holmes 2) George Airy
3) Alfred Wedgner 4) Edwin Hubble
38.
m
= —
-
3T E) B )
1) SEH ICEAIR] Ity TSy
2)  EHIoY EERD TR S o o

4)  FHifoT IR Iy SEw

Answer options :

a b C d
1)  Dyke Laccolith Lopholith Phacolith
2)  Phacolith Dyke Laccolith Lopolith
3)  Laccolith Lopolith Dyke Phacolith
4)  Phacolith Lopholith Laccolith Dyke

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



16 AT Wb IRER

39. IWTAT 3O STRA S Hb 9T TGS TR ATHedT SHAT ---- Tl
1) S Teh 2) IR T
3) WATART Teh 4) ITYHT HTeral ATal
Rocks formed due to alteration of original structure due to heat and excessive pressure are
called as ----- .
1) Sedimentary rocks 2) Igneous rocks
3) Metamorphic rocks 4) None of these
40. @W‘?ﬁ ﬁﬁﬁ?ﬁ' “I’T‘HI(‘IIC") ad @IGGIQ%‘I ’i‘iBIChS @IUQ‘II‘C{I Add onkd AHdAHAT Al
THETHR T Mo B Heiae ar 9 2o dol .
1) ST 2) WRHIGAYT
3) SIS 4) FIRSTT

rock is formed while the lava was trying to get to the surface and it gets deposited
in the dome cavity and has cooled there over time.

1) Lopolith 2) Phacolith
3) Dyke 4) Laccolith
41, IFhe TR ATSHAT g diaaR YT TITEART STATIER FRhT HIVTAT EIAT?
3N YA grSATe
) YIRS IfHER0T varg
%) T-3MErer
9T 39N
)3, 9,k 2) %hh 3, &
3) %th 31, & 4) Bth 9, <h
According to Alfred Wegener's theory, what were the forces responsible for movement of
plate?

a) Polar fleeing

b) Convection current in mantle

¢) Tidal force

Answer options :

1) a, b, c 2) Only a, b
3) Only a, ¢ 4) Only b, ¢

42. ST FERT WSHiAT AT ST A=Al 0T dG9= O BHT S I Sed. A=

HShET IR dIR Bdl, AT e BITdld.

1) AS 2) Fe

3) STeh 4) IASYRT Thal ATel

When lava accumulates in horizontal cracks in rocks and cools there to form a thick and
long layer of rock, it is called rocks.

1) Sill 2) Sheet

3) Dyke 4) None of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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e [ foeRre =
3) YETIRET TEAT Shelhe ST 9 T FTed ST,

) Y ISMIRIT JeATAT halehe SIAMT 9 d1ed STl

1) Fh 3T SRR 2) th ¥ SRR

3) Sl fue S=eR 3mRd 4) LT fquT < smed

Consider the following statements.

a) As we move from the surface towards the center of the earth, the density of earth increases.
b) Pressure goes on increasing as we move from surface towards the centre of earth
Answer option:

1) Only a is correct 2) Only b is correct

3) Both statements are correct 4) Both statements are incorrect
44, YEIGUSRT FUMART Gehrd IQTER0T SO IIRT iy [are.

34) amé‘c' T) Bre

BEFICEIEC

wﬁﬁ IR

1) ®th 9, € 2) %h 3, 9

3) Tth &, S 4) th A, 7, ©

Choose the option from the following that shows an example of a metamorphic rock.

a) granite b) Schist

c) Coal d) Quartzite

Answer options :

1) Only b, d 2) Only a, b

3) Only c, d 4) only a, b, d
45. YeIes TogMident genrd faam/A Haer.

) I UG UHHGEAT [ U I AT FRAaTd AT R qAR BT AHT
TEATHS IS AT FOTATd.

) T FHU IS THHABIGT R STaTd FreaT SRAM TR 0T AT [edash qug
AT FOTAT.

9T 39R :
1) e 3 2) % T
3) 37 AT o 4) HIOTAET ATET

Identify the incorrect statement/s from the following statements.

a) Constructive plate boundary is formed when oceanic and continental plates move together.
b) Destructive plate boundary is formed when two plates moving away from each other.
Answer options :

1) Only a 2) Only b

3) aand b 4) None

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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46. AT BITA 1930 ATST ATHEROT YaTg [Regia (Convectional Current theory) &l Rreagia
HISHT.
1) 379 gewd 2) I SIfaT
3) TRI=A%ehT ¥ST 4) SiTsT HEa
In 1930 Convectional Current Theory was proposed by .
1) Arthur Holmes 2) Charles Darwin
3) Francesco Rady 4) George Lemaitre

47. ATSITEATRT HedTd (Ordovician) =0 =T ulthaaesd wmifas saom=ar a1 geehi=
qaTe Haer.
31 A E) rrm%‘ﬁ fepar
<h) <hld ) HHHT
gy 39N
1) 3, h, € 2) 3, 9,
3T, H, 4) A, F,H, T
Select the option that indicates the factors that were involved in landform development
during the Ordovician eon.
a) Climate b) Human activities
c) Time d) Structure of landform
Answer options :
1)a, c, d 2) a, b, c
3) b, c,d 4)a, b, cd

48.  13.7 3TSST IETSITHT HIST ThIT B [T Il ST MMOT dgHaR ATSTarmad A= IR
B 3T Fegid T JEAT.
1) 3HIUS HiT 2) @G
3) USia g9 4) ST IR

proposed the theory that the universe originated in a big bang 13.7 billion years ago

and continued to expand until today.
1) Immanuel Kant 2) Laplace
3) Edwin Hubble 4) Georges Buffon

49. PET TS AT iR, U=/ g9 9RT §les 3NfoT IeaT sHe a7
FIGETYIT [Sehedld STo
INREEHERENIER] 2) T AT
3) ST HTATTHT 4) GTH3TrT Sroaradr

According to Wegener's Continental Drift theory the Pangaea was broken into two parts,
and the Gondwana land was disrupted during the period of :

1) Cretaceous period 2) Miocene period

3) Eocene period 4) Paleocene period

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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50. FERAT Hd, AR AIEHEHS AT AT ST ¢
1) HATHYT TS 2) AITOTHT 3R

3) TEATHYT e T 4) YRAI-3NERT 99

According to Wegener, the westward movement of the land masses was caused by :
1) Gravitational force. 2) Force of buoyancy.

3) Gravitational pull force. 4) Tidal force.

51. 3T STredT 3.
37) IR TR AR - T T WG
) GeRme gEaiiaie - JeRfod T Aiee
F) IRATLT gAUTIRN - TF g
T) TR SXT ORI - 3fier f2he

TR 39X ;
1) {9, & DA, T, FS
3T, H, S 4) 7, FH, T

Find the correct pairs.

a) Binary Star Hypothesis - H N Russell

b) Planetesimal Hypothesis - Chamberlin and Moulton
c) Supernova Hopothesis of Hoyle - F Hoyle

d) Interstellar Dust Hypothesis - Otto Schmidt

Options :
1) a, b, c 2)a, b,cd
3) b, c,d 4)a, c d

52. AT ARG EeHved Rool IHal TR JAlSETl.

) TES : FTRRA IHT WA AT dIR 2l
) T T 20 : S|RT AT 9Id, AT e U< AT 30 ITded 9= 1=/l
F) FRITSY : T2 MHRERET TS,

‘Jﬁ?ﬁi‘:
1) IS A 2) IS &
3) has 3, & 4) TSTRT T

Identify the incorrect intrusive igneous rocks.

a) Dyke : Accumulation of Lava in vertical cracks leads to its formation.

b) Sill and sheet: The thick horizontal deposits are called sills, whereas the thinner ones
are called sheets.

¢) Laccolith : a saucer shaped rock.

Answer options :

1) Only a 2) Only ¢

3) Only a, b 4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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53. TILTET STRITT HROMAT IMATGT BT A MBS SATA?

1) ST 2) TorgaoiT

3) FrazatT 4) “¥iicrepamre
The study of the universe is known as .

1) Astrophysics 2) Cosmography
3) Cosmology 4) Geophysics

54. QAN MG dSHATE SAGIRROT 0T IRYATHS dTeR hohoedl IRl G a-ies
SATos AT RI=gid vl ASH?
1) TS &89S 2) AR S
3) SIGRT 4) TSGR Tehal ATer

Who theorized that the earth was formed by the cooling of a nebula and the condensation

of the circular disc of clouds due to its rotation?
1) Edwin Hubble 2) Sir Jeans
3) Laplace 4) None of the above

55. WlHGU! T U™ 3T,
o * L Y o Y N\ =\
3T) Lj_aﬂH‘-‘»*-II HAId dlc) Sild <_‘|_<ef iﬂl(ﬁl‘i%‘ll( dlYH[H dled Slld. é' dlYHIH Yol X4 dled.

) AT HADMA & 32 HEI@T 1°C  dToH M dred.
&) THETAT FATNT GIAAR JATEN 9T, I06, HAT 8rdl.

T 39
AT 2) 9, %
3) Teh 4) TSR I

Identify the correct statements among the following.

a) Temperature increases with depth as one goes deeper into the Earth's interior. This
temperature increases at a decreasing rate.

b) Temperature increases by 1°C every 32 metres in the inerior of the Earth.

c) Earth's density, pressure decreases with depth in Earth's interior.

Answer options :

1)a, b 2) b, c

3) Only b 4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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56. STredT S[e5dT.
[ (FaTho ) I
3N Wrhiwra=T (i) eRTT e
ERCEIRIEED (i) STST RIBIMIRIT dedr= AT

F) AASISH (iii) STATAR AT 2oy
DERIEIE) (iv) FEAAT BeAoT
S ®F T S ®F T
1) i ii iii \Y% 2) ii i iii iv
3 iv iii ii i 4) iv ii iii i
Match the pair.

I (Era) I
a) Precambrian (i) Blue green algae
b) Palaeozoic (ii) Formation of coal bed
¢) Mesozoic (iii) Extinction of Dinosaurs
d) Cainozoic (iv) Flowering of Plants
Answer Options:
a b C d a b C d
1) i ii iii \% 2) ii i iii iv
3 iv iii ii i 4) iv ii iii i
57. AT Die Entstehung der Kontinente and Ozeane' (Origin of Continents and Oceans)
BT ST 9189 3y [
Ty 39N
1) IS g 2) 3Te%he PR
EL 4) IREres

wrote the book 'Die Entstehung der Kontinente and Ozeane' (Origin of Continents and
Oceans.) in the German Language.

Options :
1) Isaac Newton 2) Alfred Wegner
3) Strabo 4) Aristotle

58. W 3T|ﬁ‘ dlel HIGRYIT=Al dqr=A] %d(ldhldb YU 9P #F9TdTd.
1) IBIEER (Lithosphere) 2) ?\{é?fﬂ—cl?'UT (Asthenosphere)
3) HATIRYT (Mesosphere) 4) e =T (Barysphere / Centrosphere)
The solid part of the interior of the earth which includes both the crust and top layer of
the upper mantle, is called  .”
1) Lithosphere 2) Asthenosphere
3) Mesosphere 4) Barysphere / Centrosphere

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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59. JRIGUHI RV FHAIT e ATeIa?

3N T ¥) ST
&) FIEREY T) HIGAT
BIEEEEIES

Iy 39N

1) %95 T T 2) HIB ©
3) FAS T T 4) FIS TS
Which of the following is/are not a metamorphic rock?

a) Gneiss b) Basalt

c) Marble d) Coal

e) Quartzite

Answer options :

1) Only a d 2) Only d
3) Only b e 4) Only b d

60. THETAT FATMAIG FRFITHT T TR ITHT AT HIOTAT TTHITAT TR?

1) SRS FSTar 2) YUST [SITar

3) ST TIBITdT 4) FgHT ™oeTd

Which discontinuity lies between the outer core and the inner core of the Earth's interior?
1) Conrad discontinuity 2) Repetti discontinuity

3) Gutenberg discontinuity 4) Lehmann discontinuity

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



